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Time : 90 Minutes

PART —1: MENTAL ABILITY TEST
(For Student of Class VI
Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the guiestion booklet.

I
8

Answer are to be given in the OMR answer sheet

There are 90 questions in this test. All are

compulsory.

Choose the correct answer from the options given for
each question and darken the corresponding circle
with blue / black ball point pen in the OMR answer
sheet.

Since the time allotied for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question,

If you do not know the answer to any question, do
not waste time on it and pass on to the next one, If
time permits, you can come back to the questions,
which you have left in the first instance and anempt
them.

Rough work can be done anywhere in the question
booklet but not on the OMR sheet / loose paper.

Every correct answer will be awarded one Mark.

Please return the OMR Answer sheet only to the
invigilator after the test, You can retain the question
Booklets.

English wersion of the question paper will be
considered as final in case of any dispute arising out
of variation in translated version.

Quote vour seven digit Roll number without fail for
any futlre eorrespondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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auflpsnm (eflerm sreor. 1 (6 6 susor)

dpsrgmn  diemésafll  oawsst [
TUSSIGSN GO GIUILL  aflSuldmg
suflenstL@&s i (Derarar. Casiraflé @l
(7 @uiv @daer ELsdsd  sflurs
Qurniss  spw  aemeflosr |
spsdmear GarBésiu’ Geer 4 wrhy

silen.saflsllm g CoikCsHéaa.
1. 9. 28,08, T, 27T, cieiiniis
1) 126 2) 115
v}) 116 4) 124
2. 1,2,6, 24, 120,720,7....
1) 5004 2) 5040
3) 4040 4) 3040
3. 36,4,18,8,9,16, ? .........
1)18 2) 32
9
38 4) -
) )3
4. Al6, B25,..........7
1) Z 2)Y1
A ZI 4) 226
5. 5 1519 280, s
1)30 2y 31
3) 18 4) 26
6. A, A,B,E,C,1, D, M, E,?
NE 2)F
3B HQ
ufleny (eflamm eveir 7 ohHyuh 8)
Q&n@&mu_@mm Cgm_ifls s
sysgibast  aGUCEsTaRT. 95 eaTE
Cardm Gsm_iflemer T
Sigsysar  CGgmgrs  sjepwid.
2GS giésamen Lomagy
Sen_sednie CotE0sHss
y 4 __bbeee __ __ ddeeee ___
1) bede 2) beee
3) acde 4 adde
8. X26__ 25K_ _ J10_ 2A
1) Y12 B2 A Y11B1
3) Y10B2 4) Y11B2
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Direction (Question 1-6)

In each question, the numbers / letters
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the symbaol (“?)

9,28, 65,7, 217, .........
1) 126 2) 115
3) 116 4) 124
1,2,6, 24, 120,720, ......
1) 5004 2) 5040
3) 4040 4) 3040
36, 4, 18,89, 16,7 .........
1) 18 2) 32

9
3)8 d4) =
) ) >

Azﬁ‘ BIS‘. e nn--n.--n.?

Nz 2) Y1
3)Z1 4) 726

5‘1 T-g 121 191 ?g 5“, Ty

1)30 2) 31

3)18 4) 26

A-: At B'r E'| C-! [g Dj M‘ E-., ?
1)E 2)F

3)B 4)0Q

Direction (Question 7 and 8 )

Some of the letters are missing which
are given in that order as one of the
options given below. Select the correct
option.

__bbeee __ _ ddeeee _

1) bede 2) bece

3) acde 4) adde
X26 25K __ _ J10__2A
1) Y12 B2 2) Y11B1

3) Y10B2 4) Y11B2
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11.

12.

13.
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auflipenm (e 6Teatr. 9 (&6 1 eusni)
Spsangmh  aeyu_nissr
S5l : xSl AP
SiSnssIu [Beirerg). Campsainn L
dfilemdsefied ?* @l o’ A sms
Beoma) Glainyn nﬁruﬂmfﬂgﬁﬂmm
ComLsbaas

n 146 4
L] 3 7 B 2 38

1) 116
314

2)118
4) 112

G v R
A C P R L N

LHT )8
Hu v
| 4 10 6 12 ?
L 7 | 19 11 23 | 29
1)13 2)15
16 417

aufigpenm (aflemm sreir. 12 s 15 asnn)
seuGlau(, aflerrafignn CamglL
@Ls DGRt Gt & i
ﬂﬂiﬂﬂ k51 CoitOsME B"“m
D&u.uul‘o'nmm 0 e @Sl B
werent Qg amibmssds  Agmy
LRSS Geterg. oEs  @emiy
Ulrlueid@ih suenaufld *: :* srsirm

P s B
QUMTSED5EEHL jenin) Geustr Hib.
Operator : Machine : : ——— : Driver
1) Captain 2) Ship

3) Aeroplane 2} Bus

16:P:: c——: W

1) 22 2) 23

321 4)20
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Direction (Question 9-1 1)

The diagrams and the numbers
letters follow certain principle. Fin
the missing number / letter indicate
by question mark (*?*)

1) 116 2) 118
3114 4112
G ¥ R
OO
A F R L X
nT 2)s
3HU Hv
[ 4 10 | 6 12 ?
7 9 | 1 23 | 29 |
113 2)15
3) 16 417

Direction (Question 12-15)

There is a blank space in Question
12-15, in which only one of the four
alternatives given under satisfied the
relationship as is found between the
terms on the other side of the sign *: :’

Operator : Machine : : : Driver
1) Captain 2) Ship

3) Aeroplane 3) Bus

16:P:: oW
1) 22
321

2)23
4)20
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14. 15:224:: 12 ——meemm
X) 225 2) 243
"3)145 4) 143
15. Girl : : Boy : Handsome
_¥) Smart 2) Tall
3) Fair 4) Beautiful

auflgpenm (aflerT sreior. 16 — 24)
Epanggd silemisenig Wad Quigssionar
denflener  QenBassiu’ Gaer 4 wmh

aflen,safleimig Comb@s@aman
16. ‘Ring’ sreirug ‘gold’ steefléd ‘Chair®
STETLZ
1 'Wood 2) Paper
3) Table 4) Bench
17. ‘TROPHY' ereirug ‘Sports’  eraflé
‘DEGREE’ srarug
1y Examination  2) Convocation
3) Education 4) Paper
18. &, &G, Core Sy BaipL e
u-!ﬁ -
1) @suwid 2) pisnmuiiTe
3y angl 4) seelysd
19. Gsrhiésiu’L 4 w;,mpuﬁi]
Qpm_fUHPSTE o AMTEs
Naswafumgof 2) W
3) SnCpdtad  9) FTSSSGS
20. Qar@ésiuL 4 saimsafld Gsm_mupD
TEHT
1)25 2) 81
‘_’;H 2 4) 256
21. Qarpési L 4 amigmsassfie
Ggm_fubmsTs Sjeniouiih QU S
1) Talking 2) Speaking
3) Smelling ~# Crying
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16.

17.

18.

19.

20.

21.

15:224::12: ——

1) 225 2) 243

3) 145 4) 143

Girl : - : : Boy : Handsome

1) Smart 2) Tall

3) Fair 4) Beautiful
Directiom ( 16 -24)

Identify the most appropriate

alternative among the given four
alternatives

If ‘Ring’ is related to ‘gold’ then
“Chair” is related to

1) Wood
3) Table

2) Paper
4) Bench

If “TROPHY’ is related to ‘Sports’
then ‘DEGREE?’ is related to

2) Convocation
4) Paper

1) Examination
3) Education

Which of the following is connected
with eye, nose, skin?

1) Heart 2) Lungs

3) Ears 4) Liver
Choose the word which is least like
other words.

1) Kanyakumari 2) Coimbatore
3) Tirunelveli 4) Tuticorin

Choose the number which is different
from others.

1) 25 2) 81

3) 196 4) 256

Choose the word which is different
from others.

1) Talking 2) Speaking

3) Smelling 4) Crying
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23,

24.

25.

26.
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P*Q eretudlsy P srsirusui Q-aflguenw
Sy

P+B srstrudléd P srsiruisuf Q-sir wsmeorad]
A+C*B stetrug g Gum(msSSLomsa
onibp)

1) A sreirusui B-uflstr gyiblom

2) B sreirusuri A-uSlsir waseir

3) A srsrusuit B-ullsir o165

4) A ereirusuii B—uflsir sGangifl

B muwss Créd g Gusr “He is
the son of, the only son of my
grandfather” sTemé & flewmed
SQusTsfiNE S| LIS eTeaTeT
2 maj.

1) aCangfl
3) wassir

2) sGamg e
4) seng

96 GOHUFHD GBOUSSMOLT SISl
wenersll, 3 wEETEST WHNID SEUTSHMS)
LosmeaT G LD DTG e, Guogyin,
R WsESEGD 3 \DGEITEHST LOMDILD
s wEsTEeT o _eTememi - sTeafled
HEGBUGHH ysimafar
sTeg0T 68T 160 &
111

13

nﬁpmm[:ﬁ'lmrnﬁrﬂﬁmﬁmﬁ?ﬁ}
p,q,r,sgﬂ,ﬁudﬂﬂﬂ&ﬁ‘rp+th+si P

+r=q+swHgd p =—;-{q+s]ﬂﬂﬁ§125
m@h!ﬁ—&nﬂmﬁmm

9_GTEm

2) 18
4)21

4 stetara ety Gufw sresr sTl

I)p 2)q
IHr 4)s

Cupsen.  (Gpbaasefe sTéhan MM
sfhwmer s.om ?
1) ptg <rts
HpAr

2) ptr#qts
Ap#q
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22,

23.

24.

25.

26.

If P*Q) means P is the father of
P+B means P is the wife of Q then

which of the following statement is

true for A+C*B

1) A is the mother of B

2) B is the daughter of A

3) A is the aunt of B

4) A is the sister of B

Pointing towards a boy, a woman said
“He is the son of, the only son of my
grandfather”. How is that boy related
to the woman?
1) Sister

3) Son

2) Brother
4) Father

A family has a man, his wife, their
three sons and their wives. The family
of every son also has 3 sons and two
daughters. The total number of male
members is

1) 11
313

2) 18
4)21

Direction (Question 25 and 26)
p. Q. 1, s are four numbers such that
p+q>r+sandp+r=q+f.Further

p= % (q + s) then answer the

questions 25 and 26

Which number is largest?

p 2)q
3r 4)s5

Which of the following statement is
correct?
1) ptq <r+s
Jjp=r

2) ptr#qts
4p=£q
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suflpenm (sflserm ereter 27 — 28)
Gar&EsOul Heier LSS EMET
SaUETonS LipSg 27 (pEi 29 ausnmuileomsr
aflemé e EndE aflen_waflEsap

27. A syemeui B-g efl. 2 wmd; C gy emeur A-
o il @asmonerast ; D syerai E-g
sflenL 2 wmomsraut  gyenmsy B-gm el

(G ETaTLOmeT eIt ereufled Eeuitaeflsd
(GSTEmOTRT R

DE 2)B

3)C 4) D

28. gm sLLiuisusde P, Q, R, S, T
ARG Sk Glasmsgor_emit. P gy st
Q6@ wsrersraan e R-6E
Serergraain sumdpTT. S ayaran T-6@

(peTaT SIS Q-&m  Usrersraan

agpni  aafd  UbpusS  Caph
e

P )T

IR 48

20, 20 246 Cunii‘ueufi_1h 25 2 Biaser
o _smemar. *All but fifteen died™ sresfled

WBgpsirem gy [Besaiflstr svesio el bans:
)15 2) 25
LA 10 4) seréElL Gusong)

aufipenn (aflen ereior. 30 @z 34 auenn)

Qanpésiul L wpbonsgmie 2 Lu G
aflom  sem. 30 p@sd 34 suenr
A, B, C, D, E, F g80wmf e’
agalléd oifgeereni. B guereuid F
omprd C-5 B uSigib ; Aa!._mmr'rE
mmmln D-é(5 @eouflgud : F ,g&,mmr D-
6@ GiusasHYID SwihgsToret

sreuflsy
30. A-&@ib F-p@h @emLuils) sjofbgierereaud
oD 2)B
HE $C
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27.

18,

29.

30.

Direction (Question 27 - 29)
Read the information carefully and
answer the questions 27 to 29.

If A is taller than B; C is shorter than
A: D is taller than E but shorter than
B then the shortest person is

HE
3)C

2)B
$HD

Five boys P, Q, R, S and T took part
in a race. P finished before Q but
behind R. S finished before T but
behind Q. The person who won the
race is

P
3)R

)T
4)8

A shepherd had 25 sheep. “All but
fifteen died” the number of sheep left
with is
1) 15
»H1o

2) 25
4) Can’t be determined

Direction (Question 30 — 34)

For the given situation, answer the
questions 30 — 34

Six persons A, B, C, D, E and F are
sitting in a circle. B is between F and
C; A is between E and D; F is to the
left of D.

Who is between A and F?7
D 2)B
HE 4)C

www.learnerkey.com
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B-&(ih C-5@ih e uiléd) Sofhgiemene

1) A 2) sreumLilsosmen
3)D 4 E

E-di@ susoliudaid syuorrhgisemeul
17 A 2B

3D 4)C

F-&& ELOUGED SjuiThgeTam s
1)B 2) A

3)C 4)D

B-6(g @LUUGSD SyoiThgesTat
) E 2)D

3) A 4)C

auflapsnm (el steior. 35 (pged 39 auenn)
Spargmh UL SHmer SasmoTS i &gl
35-39 susmmflsomesr ST & & (T (&
aflsnLweflSsad

QEdIRED — 2 WITOTSTANT
sl Lth — eflememum’_ (5 eyt -
p&Gasmm — sjfley swifenio a gremaur

2 WITLHD Sl saTemio Esbaurs
silemsmum’ (5 siriaafler srereflans

1) 24 2) 51

3)43 4) 16

2 winorssr aflsnemum’ (5 el eTéHGemeT

Gurt ?

18 )19

3) 30 4) 21

o wiiorer Sifieyse fa 2. sTam

sflensmum’_® ey srégemar Guir ?

1)3 2)9

3)8 4) 30
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4.

35,

36.

37.

Who is between B and C?

A 1) none
3) D 4)E
Who is right of E?

1A 2) B
D 4)C
Who is left of F?

1)B 2) A
»ncCc 4HD
Who is left of B?

HE 2)D
3) A 4)C

Direction (Questions 35 —39)
Study the following figure carefully
and answer the questions 35 — 39.

The rectangle represents tallest;
The circle represents sport persons ;
and the triangle represents intelligents

40

The number of sport persons who are
neither tall nor intelligent, is

1) 24 2) 51
3) 43 4) 16
The number of tallest sport persons is
1)8 2)19
3) 30 4) 21

The number of tallest intelligent sport

persons is
1)3 2)9
38 4) 30

www.learnerkey.com
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silemsmum’ (B effiadr  ssbengs  syfin

Sa T FEADILHT o wayLome et s afiar
6T 60T souf | e

1) 40 2) 76

3) 67 4) 46

2 winover syflasTerauiasT o1&gemen Gk

1) 30
36

2)3
4)9

suflpsnm (eflerm ereier. 40 (g5 44 auenr)
Spsrggd  BuigmerasEnsE 2 CULH
40-44  eenllarer  aflemasEmaE
s weflssann

‘WISH YOU ALL SUCCESS’ sréiTug
‘YKUJ AQW CNN UWEEGUU’
sar 2 mamssiu L “YOU CAN”
sTeTuGsT @ren_mb sumigenguiler 3-
! TAPSSIT 2 HRUNE LD

1)Q )P

3)0 4) R

‘CHENNAI' eerugy ‘DIFOOBJ  ere
o GandsiuLme ‘MADURAI sémugsr
2 [HAUTSHSLD

1) NBEVSBJ
3) MBEVSBJ

2) NBDVIBJ
4) NBEVSBK

‘1917211185  erer
‘RECTANGLE’

‘SQUARE’ eréinug)
STSTUGST 2 (HaM&bESLD
1) 1753201147125 2) 1853201147125
3) 1953201147125 4) 1853201114126

'YOU' sréirugsir 2 @aurdsi 60; HE'-sir
o maumdsid 13 ; 'SHE' T 2 paunési
32 srefléd ‘ME’-6ir 2_(meunéain

1) 16 2) 19

3)17 4)18

333;1&&—9/ Si9. 2
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38.

39.

40.

41.

42,

The number of tallest persons who are
neither sport persons nor intelligent, is

1) 40 2) 76

3) 67 4) 46

The number of tallest intelligent
persons is

1)30 2)3

3)6 4)9

Direction (Question 40 — 44 )

For the given situations, choose the
appropriate option for the
questions 40 — 44

If *“WISH YOU ALL SUCCESS® is
coded as ‘YKUJ AQW  CNN
UWEEGUU" then the code of the
third letter of the second word of
“YOU CAN" is

1Q
30

)P
4R

If ‘CHENNAI' is coded as

‘DIFOOBJ’  then ‘MADURAI is
coded as

1) NBEVSEJ 2) NBDVIBJ

3) MBEVSEJ 4) NBEVSBK

If ‘SQUARE’ is coded as
£1917211185° then ‘RECTANGLE’ is
coded as

1) 1753201147125 2) 1853201147125
3) 1953201147125 4) 1853201114126

If “YOU’ is 60; ‘HE® is 13 and ‘SHE’
is 32 then *ME’ is

1)16
»17

2) 19
4)18

www.learnerkey.com
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44. SPHYSICS® ererugy 11+19+2+8+18+24+8 44. If ‘PHYSICS' is 11+19+2+8+18+24+8
greeflsd ‘HISTORY” srsirug) then *HISTORY" is
1) 19+18+8+12+9+2 1) 19+18+8+12+9+2
2) 19+18+7+12+9+3 2) 19+18+7+12+9+3
3) 19+18+7+12+9+2 3) 19+18+7+12+9+2
4) 18+19+7+12+9+2 4) 18+19+7+12+9+2
auflpenm (aflerm eremar. 45 u;ﬁm 50) Direction (45 — 50)
Elpdamggin mmu_mﬁm ﬁﬂlﬂﬁﬁﬂﬂuﬂlﬁ 3 The following diagrams show some
o i selesr end Clamem. gl relationship among three items. For
gi@ar sfemafigie QanBes Gere each group of
(A) sifeg (B) geg (C) Sjsoag) (D) corresponds one diagram (A) or (B) or
g (E) Qsmelusst aqGsguD 96 (C) or (D) or (E). Select the diagram
u_sHmen  BeneramsSSns B HemeT & for the questions 45 to 50.
ST 8.
A B c
D E
45 (5, S, @&afiussnn 45. Home, Kitchen, Bathroom
" 1B 2)C 1)B 2)C
3HD 4) A 3)D 4) A
46 SEPETE, Hmdd, CamuySHm 46. Tamilnadu, Trichy, Coimbatore
‘ A 2)E 1) A _I}E
3)C 4B 3)C 4)
T cle, Car
2 G bl feusimmy, ST 47. Bus, cycle,
Y 1:“35@ 2) A 1)B i)g
»nc 4)E 3)C )
48 yemeraser, pmiscer, Qashninsiyrenflser 48. cats, dogs, pets
B TYe 2)D 1)C i}g
HaA 4B A )
49 @isdwn, SHPEIE, phemsT 49, India, TamilNadu, Srilanka
" e, ] ] 2} A
HE 2)A NE
3:; C 4B HncC 4)B
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http://doozystudy.blogspot.in/

www.learnerkey.com



www.learnerkey.com

50.

51.

52.

53.

4.

www.Padasalai.Net

DOOZY STUDY

Sy, oyeor oy AfluFasi, sypsmer
Sy oy A g

1)B 2) A

3)E 4)D

sufliypsmm (eflsorr sresr. 51 wmmid 52)
GlarGdsiul Hesr (1 5165 FEILLD,
lemasensmiud, Gl afleurs Uik
il iweafléasa.

SO Harg) Sl pellGhis anse Cprad
50 1ff gmb ELig Oememt gieor gysmalli
(45") @La uvdsurs Hmnl Ssrent
paLflener Gam_idpmt eefld sHGurg
Glasignd Hena
1) Glgeir Hipésie
3) Czp&

2) Qgeir Gube
3) auCups

A sreerusurt B-&g Gsmdignn C sramusut
B4 dypsdgin Gnisrd  A-mi
Glurmisg C srdHenauiles a_srermi ?

2) au_ Gumg
4) Qgsir Clope;

1) o Aydig

3) Qgsir s
suiflpemm (sfler sTeer. 53 wHmb 54)
silsoLufled o sitem ETSTE aTSenssafio
20 U 605 M@ﬂm_@mm
sumigengsefied o sirar n@wm

2_maunésUu ailsemen. LYY
surigsnguflaner CaHikCSHESMLD
Advertisement

1) tease 2) time

3) driver 4) never
Combination

1) notion 2) nation

3) motion 4) caution
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50. Teachers, male Teachers, Handsome

5]4'

52.

a3

54,

male teachers
1)B 2)A
HE 4D

Direction (51 and 52 )
Read the content, sense the direction
and answer the questions 51 and 52.

A man starts walking from his home
northward, a distance of 50 mts and
then took a half turn (45°) towards
left. In which direction is he walking
now?

1) South east
3) South

2) South west
4) North west

If A is to south of B and C is to the
east of B, in what direction is C with
respect to A7

1) North East
3) South East

2) North West
4) South West

Direction (53, 54)

Among the four words, one word can’t
be made from the letters of the given
word. Identify the word.

Advertisement

1) tease 2) time

3) driver 4) never
Combination

1) notion 2) nation
3) motion 4) caution
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55.

56.

L7

58.

59.

60.
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auflipenm (aflsorm sTeior. 55)

ailem s & _girer [HTHT@ mﬁémﬁsnﬂd}
sGr qm amgms, Cerpésiul ([Hsrer
uTgemsHslsd o ster  eTSH SIS SIS
2 (meur&sIul (DT arg). S
sumrgengiuilsner Gai:blsHidHsauD.
Newspaper

1) now
3) nose

2) swap
4) pepper

auflpenm (sSsr sreder. 56-59)

= er6ar) GOB &l L Tsa)ih

x ereinp GHIE axgSsnrsah

+ s1siTm @GMS® Cluméssumaad

= gt GOWIR sflssarsand GlummsT
@areorLmed 56 (pmed 59 ausmiuSlevs
el anée alouweafléssa)n.

18 x 6 — 5 =3 eredrugsi wEHy
1)5 2) -5
312 A 10

(52 =12) x 8 +6-5 sTaTUGsT WHY
1) 40 2) 36
3)35 4) 42

16 x (10 - 6) = 1- 8 sreirugsir wdiy
1) -6 2) 6
3-8 4)8

S1peu(THEET CUMIST 2. STTEHLOLITET Sn M)
651 ?

1) 18 x 6 ereirugy 3 2) 2x10 ersirug 20
2) 10 - 6 ereirugl 4 4) 1624 erswrug) 4

suLflpesmg (aflsorm sTegr. 60 (s 65)
QamrBssiu’ L T 60T GBI, > Ep6IT /
aungmssat  [aysmssfle e,
wppeausafiLfimis safllds o saig
2ipenar CoIEASHES

I)b 2)¢
3)d A

3gg8Moe—2
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55.

56,

57.

58.

59.

6.

Direction (55)
Among the given four words only one
word which can be formed from the

letters of the given word. Identify the
word.

Newspaper
1) now 2) swap
3) nose 4) pepper

Direction (Question 56 — 59)
If *="means*+";

*x' means *+" ;

*+' means *x’ and

‘=" means *-" then answer the
questions 56-59 by converting to
original operators.

The value of 18 x 6 —5=3is

15 2) -5

312 4) 10

The value of (52 =12) x 8 +6-5 is
1) 40 2) 36

3) 35 4) 42

16 x(10-6) = 1- 8 gives

1) =6 2)6

3)-8 4)8

Which of the following is true?

INI8x6is3
2)10-6is 4

2)2x10is 20
4)16+4is 4

Direction (60 — 65)
Choose the odd numeral / word / letter
for the gquestions 60 to 65

)b 2)c
Hd 4Hf
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61. 1)a 2) b 61
3)d 4H1

62. 1) Banana 2) Orange 62.
3) grapes 4) pomegranate

63. 1) grand father  2) father 63.
3) brother ‘f.} mother

64. 1) 64 2)25 64,
316 4)49

65. 1) LMOR 2) KLOR 65,
3) ABDG 4) BCEG
sutflpenm (efler sreter. 66—75)

Cer@asiu’ L Eravg wmp el safld
el Curmssorer winn  eflsuulmer
Com Ol Hbe

6. B-uflsir suwengll Gursitgy A-uflsr auws @ 66.
L@, Pl aILBSEES (paTaTETEs
A-flgr auwg BAadldr awssiCumsm
epsiT LT G sTefled SHCUTanaEW A-sir
BUILISH %

1) 14 2) 16 \
312 4)6 ‘

67. S umenauuilsir (psiraméd 67,
@oupmasEnd, S0 &u
Sldremsd @l upsous@sd, @
umeSEhEE Gl @ unmaNLLD
Emémuorarmd:  Curds  umsnaussflsr
1)5 2)3
3)4 4) 6

68. 7897653428972459297647 eretm  etelr 68,
Glgm_flsd 9 STEITID Elevé e s lensr
Qsm.ikg, 6 eam @esssns
(LpSiT e ST & GlesmssarL 7T—aaflsr
sT o sl & em
1)2 2)5
3)4 43
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1)a 2)b

3d 4Hf

1) Banana 1) Orange

3) grapes 4) pomegranate
1) grand father 2) father

3) brother 4) mother

1) 64 2) 25

J)16 4) 49

1) LMOR 2) KLOR

3) ABDG 4) BCEG

Direction (66 = 75)
Choose the most appropriate option
among the given four options

A is twice as old as B. Three years ago,
A was three times as old as B. The
present age of A is

1) 14 2) 16
3) 12 4)6

Two ducks in front of a duck, twao
ducks behind a duck and a duck
between two ducks. The total number

of ducks, is
1)5 2)3
34 4) 6

The number of 7's in the number
series 7897653428972459297647 which
are preceded by 9 and also followed

by 6, is
1)2 2)5
3)4 4)3
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69. Criasflanawmrs oo gsmer wmemr o ssflo
saflsr @m eoarssfipulmis 21-ugns
Suidmierd  yasufimaulla 2 emar
Lomesur surt sserflsir sTenr swfldsenan
1)42 2) 40
3)43 4) 41

70. the day before yesterday was Sunday
ereeflst, the day after tomorrow sTeiTUS)
1) Thursday 2) Friday
3) Wednesday 4) Tuesday

7 9+ 4 =369413; 8 + 3 = 248311 smfisd
T+d=
1) 281174 2) 287411
3) 287428 4) 112874

72. ;sn'm{g,. @eés HeiGuf memafinEi,
__rhrrm- Eués bssdfiu  ermsmfibEo
o _siren eflG s
1) 9999 2) 8888
3) 8999 4) 9000

73, eLpsET) ﬁlﬂé& sreamaafis sreimenfl&ma
1) 999 2) 900
311 4) 990

74, S ;ymﬂw &qmﬁﬂ"" woewef Lopgyth HblL
wladr gy Cemh  Cpmsefl
&g swef 1 sm &

1) 24 2)23
312 4) 22

75. A fan always has
1) Switch 2) Current
3) Wire 4) Blades
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70.

71.

72.

73.

74.

75.
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In a row of students, Kavitha is 21"
from either end of the row. The
number of students in the row is

1) 42 2) 40

343 4) 41

If the day before vesterday
was Sunday, the day after
tomorrow will be
1) Thursday

3) Wednesday

2) Friday
4) Tuesday

If 944 = 369413 and 8+3 = 248311 then

T+4 =
1) 281174 2) 287411
3) 287428 4) 112874

The difference between greatest four
digit number and the smallest four
digit number is
1) 9999
3) 8999

2) 8888
4) 9000

The number of different 3 digi
numbers is
1) 999
3) 111

2) 900
4) 990

The number of times in a day, the twi
hands of a clock coincide is

1) 24 2)23

»ni2 4)22

A fan always has

1) Switch 2) Current
3) Wire 4) Blades
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aufilpsmm (aflsor eTedor. 76 (pash 80 susny

Almm_munﬁ'.g&-lﬂm @m{fﬁ@&@ B Gw gm Gam_iy o serg. 9iCs wrdifwrer Ggm_my C
ummu  D-&@in &@unems) wrhy Slecsdar (1, (2), -smiEs D i
e Bt @, B @-sOmis D-fewars
Direction (76- 80 )

There is a relationship between the figures (A) and (B). The same relationship exists

between the figure (C) and one of the options (1), (2), (3), and (4). Choose the correct
option

?ﬁ'lﬂ

] | ?

A B L i I
(1)- (2) (3) i+

TT.
& & : ?
A B c
(1) (2) (3)

(4
78.
/:l\ O |2 ?
ol OV
(1) +2) (3) {4)
388/108—15
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XD
BORR

80.
A A ' 35 i
(2)
sop (aflsormésamen 81 b 85 susw)
Eﬂ%é&ﬂﬂiL 3 s eflsir Qam_isdurs D @mse s D-ulemer wrmedlenL &er
(0, . @), @-Nhg CoHAsEEs.
Direction (81 - 85) , _
SEI:-::E l: “ﬁ[gure from the answer figures (1), (2), (3) and (4) which would continue the
series (A), (B), (C).
A i C
(1) (3) (4)
388/108—16
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82.

fealclony
D @ 8 =
“’ H()

\()( 1()) HO D()
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85.

A B C D
] (3) (4)

.Ll), (2)

86. @arEEsUlL UL SHHb 2 erer (p&Cansmriaaflsn steimenfléens
The number of triangles contained in the figure

is

(1) 16 210 3)8 (4)12

87. em usmLldr B QeusiGapren Heveast UGS S LOuC Gereng). @i 1-sr
srHifuda LD eTGuET

Two positions of a block are given below. When 1 is at the top, which number will be
at the bottom

L5

2

(1)6 (2)4 (3)5 4)3
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